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o ERTE 1 60 =REITFER
. KB
Lens Max. /NS He
AEEE S #E
5x 1400 x 1060 pm? | 1,10 p ¥ / &= 15...60 # / EX 38...150 4RG3~
10x 700 x 530 pm? 0,55 p 3 / & & 30...240 48 | E3K 75...600 {785
20x 350 x 260 pm? 0,27 p 3 / && 60...600 F / E3K 150...1520 &~

B
HC 2RISR/ IMKERME 28 :  uest

o DotScope mini : 2.9 Afr
o DotScope eco : 2.0 AFF
- ERAEEFHEE 2600 um
o IR
o TYERE : 15°C...35°C
o {FAEAEE : 10°C---40°C
o JRE : 30%...60%
- BEENER
o YEE 4 Windows 7 / Windows 10 / Windows 11 (64 {17t )
o USB iEHHR !
» 1x USB-A %0 » RAEFEIEZA USB 2.0 » AR #EE#E DotScope (A& A%/
USB-C » fij40 DELOCK 65684 )
= 1x USB-A i O AR EEmARIZINES
= AJREE—{E USB-A O AMNERBE » W LUEEERET BRFAENAZE -
o >4 GB:CIERE
o HEMME = 1024x720
o Intel or AMD x64 processor with min. 2 cores >= 2 GHz
o Hard disk with min. 1 GByte free disk space
© HEESKEIEEX
o {EEZ 4 Windows 10 (64 it )
o USBiEHR !
= 1xUSB-Aim0 » RIEMEAH USB 2.0 » A DotScope (AIEiBEIZZRFH
USB-C » 40 DELOCK 65684 )
= 1x USB-A im0 AR i AR BN 8S
= AJREE—E USB-A O RANERBE » W LUREFERET BRIEAEARA
7% o
> 8 GB RAM
o Screen resolution 1600x900...2560x1600, form factor 16:9 // 16:10
o CPU:
= DotScope mini 2D : Intel 3 AMD x64 EIE2% > £V 2 &l >= 2GHz

= DotScope mini 3D #1 DotScope eco : Intel 2% AMD x64 EEIE2S » /U 4 1%l
>=2 GHz
° SSD fERE » £V 5 GB By R4 ZE
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Data export:
o 2D:.m2d (B BB AZBIERTRIZEIESER ), sm2d (2D &%), .jpg, .
csv, .xml
o 3D:.m3d (B BB AZBIERTRIZEIEE ), sm3d (3D &%), .jpg, .
csv, .xml, .x3p
o EEHZE .xlsx
o EHEHRENIK (xmlHl.jpg)
E(C/
o 2D: [E1#HERAR
o 3D : [A#HA{E M LED B&EA
BRRE (. E2 AR~ 3R 4.5 AR - 23Erg / BU5% © Bulgin PX0441
BEE KX : DotScope 1B (F={E#EEE) - USB MEEHEFHY DotScope Erf8 ~ M HK
EE
EJRMFE 5V / 500mA iEiB USB 43
23°C T 2D HIEWZEREE + 5 °C
o FEHAIE :

= $8FA 5 3 © £(0,1%+1,4pm)

= §%88 10 13 : £(0,1%+0,5 um)

« $558 20 1% : +(0,1%+0,35 um)
o IBRAEE (GBI NBEEAZ

= %A 5 fZ © £(0,1%+0,3 um)

» $%88 10x: +£(0,1%+0,15 pum)

= §588 20 & : £(0,1%+0,1 um)
o E@J RIS REZIAHRE #70 > £/ 10 (FEREBEEERTP -

= ERFEIZE : +1° 0K @ 1o
» B R FFRBEHNFEEE  £0,3um @ 1o

B2H #28



